

International Journal of Number Theory
 © World Scientific Publishing Company

A FURTHER COMMON q -GENERALIZATION OF THE (B.2) AND (C.2) SUPERCONGRUENCES OF VAN HAMME

VICTOR J. W. GUO

*School of Mathematics, Hangzhou Normal University
 Hangzhou 311121, People's Republic of China
 jwguo@math.ecnu.edu.cn*

Received (21 November 2023)

Accepted (3 September 2024)

In 2019, the author and Zudilin gave a parametric q -supercongruence, which is a common generalization of the (B.2) and (C.2) supercongruences of Van Hamme. In this paper, we further give a generalization of this q -supercongruence. As a corollary, we obtain the following supercongruence: for any prime $p > 2$, positive integer r , and nonnegative integer $s \leq \min\{10, (p^r - 1)/4\}$,

$$\sum_{k=s}^{(p^r-1)/2+s} \frac{4k+1}{(-64)^k} \binom{2k-2s}{k-s} \binom{2k+2s}{k+s} \binom{2k}{k} \equiv p^r (-1)^{(p-1)r/2+s} \pmod{p^{r+2}}.$$

Keywords: supercongruence; q -supercongruences; cyclotomic polynomials; creative microscoping; Jackson's ${}_6\phi_5$ summation.

Mathematics Subject Classification 2020: 33D15, 11A07, 11B65

1. Introduction

In 1914, Ramanujan [15] published 17 representations of $1/\pi$. A Ramanujan-type formula already in the literature is the following identity

$$\sum_{k=0}^{\infty} \frac{4k+1}{(-64)^k} \binom{2k}{k}^3 = \frac{2}{\pi}, \quad (1.1)$$

which was found by Bauer [1] in 1859. Van Hamme [18] observed that many Ramanujan-type formulas for $1/\pi$, like (1.1), have nice p -adic analogues (p is an odd prime), such as

$$\sum_{k=0}^{(p-1)/2} \frac{4k+1}{(-64)^k} \binom{2k}{k}^3 \equiv p(-1)^{(p-1)/2} \pmod{p^3}, \quad (1.2)$$

$$\sum_{k=0}^{(p-1)/2} \frac{4k+1}{256^k} \binom{2k}{k}^4 \equiv p \pmod{p^3} \quad (1.3)$$

2 V.J.W. GUO

(tagged (B.2) and (C.2) respectively in Van Hamme's list). The supercongruence (1.2) was first confirmed by Mortenson [14] employing a ${}_6F_5$ transformation formula, and later reproved by Zudilin [21] through the WZ pair in [3]. The supercongruence (1.3) was established by Van Hamme [18] himself, and Long [13, Theorem 1.1] further showed that it is true modulo p^4 for primes $p > 3$.

Using the q -WZ method, the author [6] gave a q -analogue of (1.2) as follows: for positive odd integers n ,

$$\sum_{k=0}^{(n-1)/2} (-1)^k [4k+1] \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3} q^{k^2} \equiv (-q)^{(n-1)^2/4} [n] \pmod{[n]\Phi_n(q)^2}. \quad (1.4)$$

Using the same method, the author and Wang [9] established a q -analogue of [13, Theorem 1.1 with $r = 1$]: for positive odd integers n ,

$$\sum_{k=0}^{(n-1)/2} [4k+1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv q^{(1-n)/2} [n] + \frac{(n^2-1)(1-q)^2}{24} q^{(1-n)/2} [n]^3 \pmod{[n]\Phi_n(q)^3},$$

which modulo $[n]\Phi_n(q)^2$ reduces to the following q -analogue of (1.3):

$$\sum_{k=0}^{(n-1)/2} [4k+1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv q^{(1-n)/2} [n] \pmod{[n]\Phi_n(q)^2}. \quad (1.5)$$

Here and in what follows, $(a; q)_n = (1-a)(1-aq)\cdots(1-aq^{n-1})$ is the q -shifted factorial, and $[n] = 1+q+\cdots+q^{n-1}$ is the q -integer, and $\Phi_n(q)$ stands for the n -th cyclotomic polynomial in q , which can be written as

$$\Phi_n(q) = \prod_{\substack{1 \leq k \leq n \\ \gcd(k, n) = 1}} (q - \zeta^k),$$

where ζ is an n -th primitive root of unity. For convenience, we will also adopt the abbreviated notation $(a_1, a_2, \dots, a_m; q)_n = (a_1; q)_n (a_2; q)_n \cdots (a_m; q)_n$.

Employing the so-called 'creative microscoping' method, the author and Zudilin [9, Theorem 4.2 with $a = 1$] gave a generalization of (1.4) and (1.5) as follows: for odd n ,

$$\begin{aligned} & \sum_{k=0}^{(n-1)/2} [4k+1] \frac{(q; q^2)_k^2 (q/c; q^2)_k (q; q^2)_k}{(q^2; q^2)_k^2 (cq^2; q^2)_k (q^2; q^2)_k} c^k \\ & \equiv \frac{(c/q)^{(n-1)/2} (q^2/c; q^2)_{(n-1)/2} [n]}{(cq^2; q^2)_{(n-1)/2}} [n] \pmod{[n]\Phi_n(q)^2}. \end{aligned} \quad (1.6)$$

It is clear that the $c \rightarrow 0$ case of (1.6) reduces to (1.4), and the $c = 1$ case of (1.6) reduces to (1.5). Moreover, when $c = -1$, the q -supercongruence (1.6) gives

$$\sum_{k=0}^{(n-1)/2} (-1)^k [4k+1] \frac{(q; q^2)_k^2 (q^2; q^4)_k}{(q^2; q^2)_k^2 (q^4; q^4)_k} \equiv (-q)^{(1-n)/2} [n] \pmod{[n]\Phi_n(q)^2}, \quad (1.7)$$

which is another q -analogue of (1.2). For some other recent work on q -supercongruences, we refer the reader to [5,2,11,12,19,20].

In this paper, we shall give the following further generalization of (1.6).

Theorem 1.1. *Let $n > 1$ be an odd integer and let $0 \leq s \leq (n-1)/4$. Then*

$$\begin{aligned} & \sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(q; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q; q^2)_k}{(q^2; q^2)_{k-s} (q^2; q^2)_{k+s} (cq^2; q^2)_k (q^2; q^2)_k} c^k \\ & \equiv \frac{c^s (c/q)^{(n-1)/2} (q/c; q^2)_s (q^2/c; q^2)_{(n-1)/2} [n]}{(cq; q^2)_s (cq^2; q^2)_{(n-1)/2}} [n] \pmod{\Phi_n(q)^3}. \end{aligned} \quad (1.8)$$

Furthermore, if $s \leq 10$, then (1.8) also holds modulo $[n]\Phi_n(q)^2$.

We now give some particular cases of (1.8). Letting $c \rightarrow 0$ in (1.8), we have the following corollary.

Corollary 1.2. *Let $n > 1$ be an odd integer and let $0 \leq s \leq (n-1)/4$. Then*

$$\sum_{k=s}^{(n-1)/2+s} (-1)^k [4k+1] \frac{(q; q^2)_{k-s} (q; q^2)_{k+s} (q; q^2)_k q^{k^2}}{(q^2; q^2)_{k-s} (q^2; q^2)_{k+s} (q^2; q^2)_k} \equiv (-q)^{(n-1)^2/4+s^2} [n] \pmod{\Phi_n(q)^3}.$$

Letting $c = 1$ in (1.8), we get the following result due to Tang [17].

Corollary 1.3. *Let $n > 1$ be an odd integer and let $0 \leq s \leq (n-1)/4$. Then*

$$\sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(q; q^2)_{k-s} (q; q^2)_{k+s} (q; q^2)_k^2}{(q^2; q^2)_{k-s} (q^2; q^2)_{k+s} (q^2; q^2)_k^2} \equiv q^{(1-n)/2} [n] \pmod{\Phi_n(q)^3}.$$

Moreover, taking $c = -1$ in (1.8), we are led to the conclusion.

Corollary 1.4. *Let $n > 1$ be an odd integer and let $0 \leq s \leq (n-1)/4$. Then*

$$\sum_{k=s}^{(n-1)/2+s} (-1)^k [4k+1] \frac{(q; q^2)_{k-s} (q; q^2)_{k+s} (q^2; q^4)_k}{(q^2; q^2)_{k-s} (q^2; q^2)_{k+s} (q^4; q^4)_k} \equiv (-1)^s (-q)^{(1-n)/2} [n] \pmod{\Phi_n(q)^3}.$$

It is easy to see that the above three q -supercongruences are generalizations of (1.4), (1.5), and (1.7), respectively. For $n = p^r$, letting $q \rightarrow 1$ in these three q -supercongruences, we arrive at the following generalization of (1.2): for any odd prime p , positive integer r , and nonnegative integer $s \leq (p^r - 1)/4$,

$$\sum_{k=s}^{(p^r-1)/2+s} \frac{4k+1}{(-64)^k} \binom{2k-2s}{k-s} \binom{2k+2s}{k+s} \binom{2k}{k} \equiv p^r (-1)^{(p-1)r/2+s} \pmod{p^3}. \quad (1.9)$$

Moreover, if $s \leq 10$, then (1.9) also holds modulo p^{r+2} .

4 V.J.W. GUO

2. Proof of Theorem 1.1

In order to prove Theorem 1.1, we need two lemmas on q -congruences. The first one is a simple q -congruence modulo $\Phi_n(q)$.

Lemma 2.1. *Let $n > 1$ be an odd integer and let $0 \leq s \leq (n-1)/4$. Then*

$$\sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(aq; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q/a; q^2)_k}{(q^2; q^2)_{k-s} (q^2/a; q^2)_{k+s} (cq^2; q^2)_k (aq^2; q^2)_k} c^k \equiv 0 \pmod{\Phi_n(q)}. \quad (2.1)$$

Proof. The author and Schlosser [8, Lemma 3.1] gave the simple q -congruence: for $0 \leq k \leq (n-1)/2$,

$$\frac{(aq; q^2)_{(n-1)/2-k}}{(q^2/a; q^2)_{(n-1)/2-k}} \equiv (-a)^{(n-1)/2-2k} \frac{(aq; q^2)_k}{(q^2/a; q^2)_k} q^{(n-1)^2/4+k} \pmod{\Phi_n(q)}. \quad (2.2)$$

It follows that, for $s \leq k \leq (n-1)/2 - s$,

$$\begin{aligned} & \frac{(aq; q^2)_{(n-1)/2-k-s}}{(q^2/a; q^2)_{(n-1)/2-k+s}} \\ &= \frac{(aq; q^2)_{(n-1)/2-k-s} / (q^2/a; q^2)_{(n-1)/2-k-s}}{(1 - q^{n+1-2k-2s}/a)(1 - q^{n+3-2k-2s}/a) \cdots (1 - q^{n+2s-1-2k}/a)} \\ &\equiv \frac{(-a)^{(n-1)/2-2k-2s} (aq; q^2)_{k+s} q^{(n-1)^2/4+k+s}}{(q^2/a; q^2)_{k+s} (1 - q^{1-2k-2s}/a)(1 - q^{3-2k-2s}/a) \cdots (1 - q^{2s-1-2k}/a)} \\ &= (-a)^{(n-1)/2-2k} \frac{(aq; q^2)_{k-s}}{(q^2/a; q^2)_{k+s}} q^{(n-1)^2/4+4ks+k+s} \pmod{\Phi_n(q)}, \end{aligned} \quad (2.3)$$

where we have used the fact that $q^n \equiv 1 \pmod{\Phi_n(q)}$, and similarly, modulo $\Phi_n(q)$,

$$\frac{(aq; q^2)_{(n-1)/2-k+s}}{(q^2/a; q^2)_{(n-1)/2-k-s}} \equiv (-a)^{(n-1)/2-2k} \frac{(aq; q^2)_{k+s}}{(q^2/a; q^2)_{k-s}} q^{(n-1)^2/4-4ks+k-s}. \quad (2.4)$$

Using the q -congruences (2.2)–(2.4), we can easily verify that, for $N = (n-1)/2$ and $s \leq k \leq N - s$,

$$\begin{aligned} & [4(N-k)+1] \frac{(aq; q^2)_{N-k-s} (q; q^2)_{N-k+s} (q/c; q^2)_{N-k} (q/a; q^2)_{N-k}}{(q^2; q^2)_{N-k-s} (q^2/a; q^2)_{N-k+s} (cq^2; q^2)_{N-k} (aq^2; q^2)_{N-k}} c^{N-k} \\ &\equiv -[4k+1] \frac{(aq; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q/a; q^2)_k}{(q^2; q^2)_{k-s} (q^2/a; q^2)_{k+s} (cq^2; q^2)_k (aq^2; q^2)_k} c^k \pmod{\Phi_n(q)}. \end{aligned}$$

This indicates that the partial sum of the left-hand side of (2.1) truncated at $k = (n-1)/2 - s$ is congruent to 0 modulo $\Phi_n(q)$. Furthermore, for k satisfying $(n-1)/2 - s < k \leq (n-1)/2 + s$, the q -shifted factorial $(q; q^2)_{k+s}$ has the factor $1 - q^n$ and so each term indexed by k on the left-hand side of (2.1) is congruent to 0 modulo $\Phi_n(q)$. This proves the desired q -congruence (2.1). \square

Following the monograph [4], the *basic hypergeometric series* ${}_{r+1}\phi_r$ is defined by (see [4])

$${}_{r+1}\phi_r \left[\begin{matrix} a_1, a_2, \dots, a_{r+1} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right] = \sum_{k=0}^{\infty} \frac{(a_1; q)_k (a_2; q)_k \cdots (a_{r+1}; q)_k}{(q; q)_k (b_1; q)_k \cdots (b_r; q)_k} z^k.$$

Then a classical very-well-poised ${}_6\phi_5$ summation formula of Jackson (see [4, Appendix (II.21)]) can be written as follows:

$${}_6\phi_5 \left[\begin{matrix} a, qa^{\frac{1}{2}}, -qa^{\frac{1}{2}}, b, c, q^{-n} \\ a^{\frac{1}{2}}, -a^{\frac{1}{2}}, aq/b, aq/c, aq^{n+1} \end{matrix}; q, \frac{aq^{n+1}}{bc} \right] = \frac{(aq; q)_n (aq/bc; q)_n}{(aq/b; q)_n (aq/c; q)_n}. \quad (2.5)$$

We also require two q -congruences on the left-hand side of (2.1) modulo $1 - aq^n$ and $a - q^n$, respectively.

Lemma 2.2. *Let $n > 1$ be an odd integer and let $0 \leq s \leq (n-1)/2$. Then, modulo $(1 - aq^n)(a - q^n)$,*

$$\begin{aligned} & \sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(aq; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q/a; q^2)_k}{(q^2; q^2)_{k-s} (q^2/a; q^2)_{k+s} (cq^2; q^2)_k (aq^2; q^2)_k} c^k \\ & \equiv c^s (c/q)^{(n-1)/2} \frac{(q/a, q/c; q^2)_s (q^2/c; q^2)_{(n-1)/2}}{(cq/a, q; q^2)_s (cq^2; q^2)_{(n-1)/2}} [n]. \end{aligned} \quad (2.6)$$

Proof. For $a = q^{-n}$, the left-hand side of (2.6) is equal to

$$\begin{aligned} & \sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(q^{1-n}; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q^{1+n}; q^2)_k}{(q^2; q^2)_{k-s} (q^{2+n}; q^2)_{k+s} (cq^2; q^2)_k (q^{2-n}; q^2)_k} c^k \\ & = \sum_{k=0}^{(n-1)/2} [4k+4s+1] \frac{(q^{1-n}; q^2)_k (q; q^2)_{k+2s} (q/c; q^2)_{k+s} (q^{1+n}; q^2)_{k+s}}{(q^2; q^2)_k (q^{2+n}; q^2)_{k+2s} (cq^2; q^2)_{k+s} (q^{2-n}; q^2)_{k+s}} c^{k+s} \\ & = [4s+1] \frac{(q/c; q^2)_s (q^{1+n}; q^2)_s (q; q^2)_{2s}}{(cq^2; q^2)_s (q^{2-n}; q^2)_s (q^{2+n}; q^2)_{2s}} c^s \\ & \quad \times {}_6\phi_5 \left[\begin{matrix} q^{4s+1}, q^{2s+\frac{5}{2}}, -q^{2s+\frac{5}{2}}, q^{2s+1}/c, q^{2s+1+n}, q^{1-n} \\ q^{2s+\frac{1}{2}}, -q^{2s+\frac{1}{2}}, cq^{2s+2}, q^{2s+2-n}, q^{4s+2+n} \end{matrix}; q^2, c \right]. \end{aligned} \quad (2.7)$$

Making the parameter substitutions $q \mapsto q^2$, $a = q^{4s+1}$, $b \mapsto q^{2s+1}/c$, $c = q^{2s+1+n}$, and $n \mapsto (n-1)/2$ in Jackson's ${}_6\phi_5$ summation formula (2.5), we see that the

6 *V.J.W. GUO*

right-hand side of (2.7) can be written as

$$\begin{aligned}
 & [4s+1] \frac{(q/c; q^2)_s (q^{1+n}; q^2)_s (q; q^2)_{2s} c^s}{(cq^2; q^2)_s (q^{2-n}; q^2)_s (q^{2+n}; q^2)_{2s}} \frac{(q^{4s+3}, cq^{1-n}; q^2)_{(n-1)/2}}{(cq^{2s+2}, q^{2s+2-n}; q^2)_{(n-1)/2}} \\
 &= c^s [n+4s] \frac{(q/c, q^{1+n}; q^2)_s (cq^{1-n}; q^2)_{(n-1)/2} (q; q^2)_{(n-1)/2+2s}}{(q^{2+n}; q^2)_{2s} (cq^2, q^{2-n}; q^2)_{(n-1)/2+s}} \\
 &= c^s \frac{(q/c, q^{1+n}; q^2)_s (cq^{1-n}; q^2)_{(n-1)/2} (q; q^2)_{(n-1)/2}}{(cq^{1+n}, q; q^2)_s (cq^2, q^{2-n}; q^2)_{(n-1)/2}} [n] \\
 &= c^s (c/q)^{(n-1)/2} \frac{(q/c, q^{1+n}; q^2)_s (q^2/c; q^2)_{(n-1)/2}}{(cq^{1+n}, q; q^2)_s (cq^2; q^2)_{(n-1)/2}} [n],
 \end{aligned}$$

which is just the $a = q^{-n}$ case of the right-hand side of (2.6). Namely, the q -congruence (2.6) is true modulo $1 - aq^n$.

For $a = q^n$, the left-hand side of (2.6) is equal to

$$\begin{aligned}
 & \sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(q^{1+n}; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q^{1-n}; q^2)_k}{(q^2; q^2)_{k-s} (q^{2-n}; q^2)_{k+s} (cq^2; q^2)_k (q^{2+n}; q^2)_k} c^k \\
 &= \sum_{k=0}^{(n-1)/2} [4k+4s+1] \frac{(q^{1+n}; q^2)_k (q; q^2)_{k+2s} (q/c; q^2)_{k+s} (q^{1-n}; q^2)_{k+s}}{(q^2; q^2)_k (q^{2-n}; q^2)_{k+2s} (cq^2; q^2)_{k+s} (q^{2+n}; q^2)_{k+s}} c^{k+s} \\
 &= [4s+1] \frac{(q/c; q^2)_s (q^{1-n}; q^2)_s (q; q^2)_{2s}}{(cq^2; q^2)_s (q^{2+n}; q^2)_s (q^{2-n}; q^2)_{2s}} c^s \\
 & \quad \times 6\phi_5 \left[\begin{matrix} q^{4s+1}, q^{2s+\frac{5}{2}}, -q^{2s+\frac{5}{2}}, q^{2s+1}/c, q^{1+n}, q^{2s+1-n} \\ q^{2s+\frac{1}{2}}, -q^{2s+\frac{1}{2}}, cq^{2s+2}, q^{4s+2-n}, q^{2s+2+n}; q^2, c \end{matrix} \right]. \quad (2.8)
 \end{aligned}$$

Making the parameter substitutions $q \mapsto q^2$, $a = q^{4s+1}$, $b \mapsto q^{2s+1}/c$, $c = q^{1+n}$, and $n \mapsto (n-1)/2 - s$ in (2.5), we find that the right-hand side of (2.8) can be simplified as

$$\begin{aligned}
 & [4s+1] \frac{(q/c; q^2)_s (q^{1-n}; q^2)_s (q; q^2)_{2s} c^s}{(cq^2; q^2)_s (q^{2+n}; q^2)_s (q^{2-n}; q^2)_{2s}} \frac{(q^{4s+3}, cq^{2s+1-n}; q^2)_{(n-1)/2-s}}{(cq^{2s+2}, q^{4s+2-n}; q^2)_{(n-1)/2-s}} \\
 &= c^s [n+2s] \frac{(q/c, q^{1-n}; q^2)_s (cq^{2s+1-n}; q^2)_{(n-1)/2-s} (q; q^2)_{(n-1)/2+s}}{(q^{2+n}; q^2)_s (cq^2; q^2)_{(n-1)/2} (q^{2-n}; q^2)_{(n-1)/2+s}} \\
 &= c^s \frac{(q/c, q^{1-n}; q^2)_s (cq^{1-n}; q^2)_{(n-1)/2} (q; q^2)_{(n-1)/2}}{(cq^{1-n}; q^2)_s (cq^2, q^{2-n}; q^2)_{(n-1)/2} (q; q^2)_s} [n] \\
 &= c^s (c/q)^{(n-1)/2} \frac{(q/c, q^{1-n}; q^2)_s (q^2/c; q^2)_{(n-1)/2}}{(cq^{1-n}; q^2)_s (cq^2; q^2)_{(n-1)/2} (q; q^2)_s} [n]
 \end{aligned}$$

which is the $a = q^{-n}$ case of the right-hand side of (2.6). Namely, the desired q -congruence (2.6) is true modulo $a - q^n$. Since $1 - aq^n$ is coprime with $a - q^n$, we complete the proof of (2.6). \square

Proof of Theorem 1.1. Note that $\Phi_n(q)$ and $(1 - aq^n)(a - q^n)$ are coprime polynomials in q . Moreover, the right-hand sides of (2.6) is congruent to 0 modulo

$\Phi_n(q)$. Thus, we conclude that (2.6) holds modulo $\Phi_n(q)(1 - aq^n)(a - q^n)$ for $0 \leq s \leq (n-1)/4$. Letting $a = 1$ in this q -congruence yields that (1.8) is true modulo $\Phi_n(q)^3$.

In what follows, we shall prove that (1.8) is also true modulo $[n]$ for $s \leq 10$. Namely,

$$\sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(aq; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q/a; q^2)_k}{(q^2; q^2)_{k-s} (q^2/a; q^2)_{k+s} (cq^2; q^2)_k (aq^2; q^2)_k} c^k \equiv 0 \pmod{[n]},$$

or, equivalently,

$$\sum_{k=0}^{(n-1)/2} [4k+4s+1] \frac{(aq; q^2)_k (q; q^2)_{k+2s} (q/c; q^2)_{k+s} (q/a; q^2)_{k+s}}{(q^2; q^2)_k (q^2/a; q^2)_{k+2s} (cq^2; q^2)_{k+s} (aq^2; q^2)_{k+s}} c^{k+s} \equiv 0 \pmod{[n]}. \quad (2.9)$$

The proof is analogous to that of [8, Theorem 12.9] (or [10, Theorem 4.2]). For the reader's convenience, we give a detailed proof here.

Let $\zeta \neq 1$ denote an n -th root of unity, not necessarily primitive. In other words, ζ is a primitive root of unity of degree d for some $d \mid n$. Let $c_q(k)$ stand for the k -th summand on the left-hand side of (2.9). With the help of the mathematical software `Maple`, we can verify that (2.9) holds modulo $\Phi_n(q)$ for all non-negative integers $s \leq 10$ and positive odd integers $n \leq 4s - 1$. This, together with (1.8), means that the q -congruence (1.8) is true modulo $\Phi_n(q)$ for all $0 \leq s \leq 10$ and odd $n > 1$. The q -congruence is also true when the left-hand side is summing over k up to $n-1$, because each summand is congruent to 0 modulo $\Phi_n(q)$ for k satisfying $(n-1)/2 < k \leq n-1$. Taking $n = d$ leads to

$$\sum_{k=0}^{(d-1)/2} c_\zeta(k) = \sum_{k=0}^{d-1} c_\zeta(k) = 0.$$

Observing that

$$\frac{c_\zeta(\ell d + k)}{c_\zeta(\ell d)} = \lim_{q \rightarrow \zeta} \frac{c_q(\ell d + k)}{c_q(\ell d)} = \frac{c_\zeta(k)}{c_\zeta(0)},$$

we obtain

$$\begin{aligned} \sum_{k=0}^{(n-1)/2} c_\zeta(k) &= \sum_{\ell=0}^{(n/d-3)/2} \sum_{k=0}^{d-1} c_\zeta(\ell d + k) + \sum_{k=0}^{(d-1)/2} c_\zeta((n-d)/2 + k) \\ &= \frac{1}{c_\zeta(0)} \sum_{\ell=0}^{(n/d-3)/2} c_\zeta(\ell d) \sum_{k=0}^{d-1} c_\zeta(k) + \sum_{k=0}^{(d-1)/2} c_\zeta((n-d)/2 + k) \\ &= 0. \end{aligned}$$

This proves that $\sum_{k=0}^{(n-1)/2} c_q(k)$ is congruent to 0 modulo $\Phi_d(q)$. Since every cyclotomic polynomial $\Phi_d(q)$ is irreducible in the ring $\mathbb{Z}[q]$, we deduce that the left-hand

8 *V.J.W. GUO*

side of (2.9) is congruent to 0 modulo

$$\prod_{d|n, d>1} \Phi_d(q) = [n].$$

Therefore, the q -congruence (1.8) holds modulo $[n]$. Noticing that the least common multiple of $\Phi_n(q)^3$ and $[n]$ is $[n]\Phi_n(q)^2$, we accomplish the proof. \square

3. Concluding remarks

It is natural to suspect that the condition $s \leq 10$ for (1.8) holding modulo $[n]\Phi_n(q)^2$ is not necessary. Namely, we believe that the following stronger version of Theorem 1.1 should be true.

Conjecture 3.1. *The q -supercongruence (1.8) holds modulo $[n]\Phi_n(q)^2$. In particular, the supercongruence (1.9) holds modulo p^{r+2} .*

In light of the proof the second part of Theorem 1.1, to prove Conjecture 3.1, it suffices to show the following q -congruence: for any non-negative integer s and odd integer $n > 1$,

$$\sum_{k=s}^{(n-1)/2+s} [4k+1] \frac{(q; q^2)_{k-s} (q; q^2)_{k+s} (q/c; q^2)_k (q; q^2)_k}{(q^2; q^2)_{k-s} (q^2; q^2)_{k+s} (cq^2; q^2)_k (q^2; q^2)_k} c^k \equiv 0 \pmod{\Phi_n(q)}.$$

In 2012, using the WZ method, Sun [16] obtained the following refinement of (1.2): for any prime $p > 3$,

$$\sum_{k=0}^{(p-1)/2} (-1)^k (4k+1) \frac{\left(\frac{1}{2}\right)_k^3}{k!^3} \equiv p(-1)^{(p-1)/2} + p^3 E_{p-3} \pmod{p^4}, \quad (3.1)$$

where E_{p-3} is the $(p-3)$ th Euler number, which may be defined by

$$\frac{2}{e^x + e^{-x}} = \sum_{k=0}^{\infty} E_k \frac{x^k}{k!}.$$

Recently, a q -analogue of (3.1) was given by the author [7]. We do not know whether the supercongruence (1.9) for $r = 1$ can be generalized to the modulus p^4 case for general s . However, we find that the following refinement of (1.9) for $s = (p^r - 1)/6$ seems to be true.

Conjecture 3.2. *Let p be an odd prime and $r \geq 1$ with $p^r \equiv 1 \pmod{6}$, and let $s = (p^r - 1)/6$. Then*

$$\sum_{k=s}^{(p^r-1)/2+s} \frac{4k+1}{(-64)^k} \binom{2k-2s}{k-s} \binom{2k+2s}{k+s} \binom{2k}{k} \equiv p^r (-1)^{(p-1)r/2+s} \pmod{p^{r+3}}.$$

It is worth mentioning that we cannot expect that the previous q -analogue of (1.9) hold modulo $[n]\Phi_n(q)^3$ for $s = (n-1)/6$. We hope that an interested reader can make progress on Conjecture 3.2 at least for the $r = 1$ case.

References

- [1] G. Bauer, Von den coefficienten der Reihen von Kugelfunctionen einer variabeln, *J. Reine Angew. Math.* **56** (1859), 101–121.
- [2] M. El Bachraoui, On supercongruences for truncated sums of squares of basic hypergeometric series, *Ramanujan J.* **54** (2021), 415–426.
- [3] S. B. Ekhad and D. Zeilberger, A WZ proof of Ramanujan's formula for π , in: *Geometry, Analysis, and Mechanics*, pp. 107–108, J. M. Rassias (ed.), (World Scientific, Singapore, 1994)
- [4] G. Gasper and M. Rahman, *Basic Hypergeometric Series*, 2nd edition, Encyclopedia of Mathematics and Its Applications, Vol. 96 (Cambridge University Press, Cambridge, 2004).
- [5] G. Gu and X. Wang, Proof of two conjectures of Guo and of Tang, *J. Math. Anal. Appl.* **541** (2025), Article ID:128712.
- [6] V. J. W. Guo, A q -analogue of a Ramanujan-type supercongruence involving central binomial coefficients, *J. Math. Anal. Appl.* **458** (2018), 590–600.
- [7] V.J.W. Guo, q -Analogues of some supercongruences related to Euler numbers, *J. Difference Equ. Appl.* **28** (2022), 58–72.
- [8] V. J. W. Guo and M. J. Schlosser, Some q -supercongruences from transformation formulas for basic hypergeometric series, *Constr. Approx.* **53** (2021), 155–200.
- [9] V. J. W. Guo and S.-D. Wang, Some congruences involving fourth powers of central q -binomial coefficients, *Proc. Roy. Soc. Edinburgh Sect. A* **150** (2020), 1127–1138.
- [10] V. J. W. Guo, W. Zudilin, A q -microscope for supercongruences, *Adv. Math.* **346** (2019), 329–358.
- [11] H. He and W. Wang, Two curious q -supercongruences and their extensions, *Forum Math.* **36** (2024), 1555–1563
- [12] J.-C. Liu, A variation of the q -Wolstenholme theorem, *Ann. Mat. Pura Appl.* **201** (2022), 1993–2000.
- [13] L. Long, Hypergeometric evaluation identities and supercongruences, *Pacific J. Math.* **249** (2011), 405–418.
- [14] E. Mortenson, A p -adic supercongruence conjecture of van Hamme, *Proc. Amer. Math. Soc.* **136** (2008), 4321–4328.
- [15] S. Ramanujan, Modular equations and approximations to π , *Quart. J. Math. Oxford Ser. (2)* **45** (1914), 350–372.
- [16] Z.-W. Sun, A refinement of a congruence result by van Hamme and Mortenson, *Illinois J. Math.* **56** (2012) 967–979.
- [17] N. Tang, Some q -supercongruences related to Van Hamme's (C.2) supercongruence, *J. Math. Anal. Appl.* **527** (2023), Article ID:127402.
- [18] L. Van Hamme, Some conjectures concerning partial sums of generalized hypergeometric series, in: *p -Adic Functional Analysis (Nijmegen, 1996)*, pp. 223–236, Lecture Notes in Pure and Appl. Math. 192, (Dekker, New York, 1997)
- [19] C. Wei, Some q -supercongruences modulo the fourth power of a cyclotomic polynomial, *J. Combin. Theory Ser. A* **182** (2021), Article ID:105469.
- [20] C. Wei, A q -supercongruence from a q -analogue of Whipple's ${}_3F_2$ summation formula, *J. Combin. Theory Ser. A* **194** (2023), Article ID:105705.
- [21] W. Zudilin, Ramanujan-type supercongruences, *J. Number Theory* **129** (2009), 1848–1857.